Y
[N
Ho
7l

HZX 717]

b

ol

7|

ai
=3
Hx

X

3

KO

=0
el

]

718l

SHl ®lof 7171

oilo|Eq
2] 2t

KF

=
o

Lo
=l

pul}
1

ApojIA

At

BEZA
Atk

94

3 Azl S
FHE23 No.CB-030S

o

M HE(E

Series

AEZ3: HF 30, 40, 50, 70, 100mm
£ AEZ3 60, 80, 100, 120, 160, 200mm

DD

2 AEZ3)

HA

=

- mgmgm@
FEUE mm 212x2 216x%2 220%2 225%2 232%2 240x%2
Mg 7A 2= 37
A0 Mg 2 MPa 0.7
X Mg 2 MPa 0.3
Felek °C 5~60
s 73 M5 Rc1/8
SXAEZ3  mm 20 30 | 60 | 80 | 40 [ 80 [ 100 | 50 | 100 [ 120 | 70 | 120 [ 160 | 100 | 160 | 200
BEEXE mm 26 28 210 212 216 220
g2 U8y om’ 3.4 9.1 [18.1[24.1]18.837.6[47.0[37.7 | 754 | 90.5 | 84.4 | 145 | 193 | 226 | 301 | 377
HHE Mo mm 0.1
HE Qe kg 0.31 |054]095]1.12]0.90 158 [1.77] 1.7 [216] 23 [ 28 [ 38 | 48 | 57 | 7.8 | 8.8
=57 =7t
HEE HSE

=5y
=8 2 AE|2AE
i gx |B31| 232
L1 L2

meZ P4 [ [ ] [ ]
0402| P40 | @ | @ | @ | @ciyrzs O FhyIIZ A 2eBa [oyel

HH HA|

HME) (3268 - L1+ SWit - R0~ Bl

= L
A
Q Mol=

12CS

16CS

20CS

25CS

32CS

40CS

:
Oz Jsgle |EE
L1 EAEZT 1
L2 EAEZT?
© 9% @ 29X &H
fal s PN b
AR[X| Yol CHsh M= M 23page~26page?|
CHSEE &Zo FHUAL.
TN D AIX| &
@ 2%x =+ EENES
R
- - 7 H3|P
S48 M A| AL ——
F1:12CSE & AER3 L1, L2°= M= £ BL|C.



H M F Series

opx|3 4= Holg

ofx|3 45 ool

23 22 0.3,0.5, 0.7MPa¥ off i=o| 12| Zo| Lo| m}
X|2ig LIEpALICY.
@ ek ) HE wikmp) 25
(MM HA|)
_I|
N \
2
(7]
N
N
@HMF-12CS @HMF-16CS @HMF-20CS
N) (N) T 1] (N) 1]
50 100 =0.7MPa 7Hm ———1 oH
B = —0.7MPa 7H =
40 ™ 80 ™~ E——— -
—0.7MPa 7 0.5MPa 7 TE
et —~—— | ] | l-0.5MPa 7HT
n % _ o © o 100
x{ 0.5MPa Al —— xt ~0.3MPa | ,qf _
20 . 2 40 2 0.3MPa 7HH Sm
- I - i Sm
0.3MPa 7 50 -
10 20
i
e
0 1 2 3 4 5 0 2 4 6 8 10 0 2 4 6 8 10 |°
Jele] Zo|(L)  (cm) zzle| Zo|(L)  (cm) 1z2le] Zo|(L)  (cm)
- OH
2 3
@HMF-25CS @HMF-32CS @HMF-40CS [:E
o B
(N) ~ (N) (N) | | | ,:i' N
T N
200 -~ o0 600 [~ VP i T N
L0.7MPa 7 — 550
~— | 300 I —— _
150 —0.7MPa 7HI 2L =
250 450 ] 0.5MPa 7Hm | =
1
]1|'100 <0.5MPa 7HmH| 1} 200 1 400 == -
X X \-0.5MPa 7HI X
E_|=! T§§ E1I 150 |3 |a H|| E_|1I 350 ?&1
. 0 3MPa A 100 —— 300 1 ~0.3MPa A
\—0.3MPa 7HH| 250 —
50 200 — u
y . 150 L - =
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14 16 18 0 2 4 6 8 10 12 14 16 18 -
ae2le] Zo|(L)  (cm) az2le] Zo|(L)  (cm) azlel Zo|(L)  (cm) 0=
021
R
30
=
-}
2
N
N
(LI
m r2
511 ofn
i3 g
2
z_"rﬁ ©
=0 O
%5 m

CKD %





